





Paper / Subject Code: 51201 / Applied Mathematics-111

b] Find Complex form of the Fourier seriesfor Fici=¢" IR-1 cx- 1 [&6]

¢) Verify Green's Theorem for §2¢ 7 4 -3 why where Cis the boundary of the closed reglon
bounded by i = = and W =y, (8]

¥ = o F s |
Q6. a)Evaluate ™' 2t T¢

(6]
[ quLogdy 1]
| I
|
b} Find the map of the line x-y=1 by transformation w = — [6]
€] Using Stoke’s theorem evaluate frods « 2+ ad = ) where € is the curve of intersection of the
sphere = - ' - =" = ;7 and planey v = wy 8]
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Paper / Subjeet Code: 51202 / Electronies Devices and Circuits-1

W6 () Sketeh the frequency response for the Siouit shown Fig. 6(a) whore
o= 05 WF, Co= 1 yE,iCy= 10/ uF. Coe= § pF,-Cpor = 2.oF. g = 3 ors

lake 7v= 3 mA.
ok A yal M F s K
3 i e _i.;'.'_-?}*f—':r “'ri:' L:"th ‘, |
] ' e X PP i
: ' My A s J
e b R -‘m-" Sl T
| o -

e
RN et E
o i ek

| — Fig 6a)
(b Write a short note on small signal model of diode,
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